Module Name : TET - Paper 1 - Tamil
Exam Date : 19-Oct-2022 Batch : 14:00-17:00

Sr. | Client Question . . Negative
No. D Question Body and Alternatives Marks Marks
Objective Question
1 1 "Knowing is a process, not a product" stated by : 1.0 0.00
"Q&fl&H6V 6T6OTLIG QS TLIEF WITET Q& U6V, @) M1 UIT6IT (LOLY6U6V6" 6T6Td: Famllleu
fM Bruner
L] ([ 6vor [j
52 Gergen
Q8373607
53 Vygotsky
MEUSTL 6N &
A4 Kuhn
& 60T
Objective Question
2 2 The teacher gives the prizes for each and every responses received from her/his late blooming child in the classroom 1.0 0.00

which training is applied by the teacher ?
AFFWT H60Tg UG LILIMUIEL 2_6T6T GILD6VEV LDEV(HLD LOTEIOTEU T8 E1H & @ 6261 G QT
SIVMIGEHSH G LflFeafleaSHmmy. 6Ths auems LWmF enw LAl LweTUGSSISTT ?

A1l Punishment Training




&evorL_eneorLl LU m&)

52 Reward Training

L& eupmiEl LUIHe
f“ Escape Training
sULS8! ell(hge LWIHE
jM Omission Training
sl LWmHe
Objective Question

3 3 Which of the following is not a Gestalt principle ? 1.0 0.00
G LD 55 600TL_6UMMIGT 6TS 'Q&H6NLITEVL Q& TETem 85 LIGV6V ?

AI Law of Proximity
@) 600755 S
AZ Law of Disuse

LweTuLm ef&)

A3 Law of Closure

3jenL e ellF)
fA‘4 Law of Readiness
WSS alH)
Objective Question

4 4 Physiologist Pavlov belongs to which Country ? 1.0 0.00
2 _amellWIEVITETT LIMeU6VITEN 6T[H& [FTL 60L& FMIHSeUT ?




?M America
ENAhIES:

?AZ Russia
Tequim

_A3 Italy

@55 medl

A4 Canada

SH6e0TLIT

Objective Question
> > When the learning in one situation hinders, interfers or weakens the learning in another situation is : 1.0 0.00

SHMHLAIHHES @@ GLBlemevuiley &MHM &MMEVTETS LDMHOMITH GLpBlemevuuilev &MHMmenev
SHEROHMS, GNERHHMH 6vevgl LievaleT ILOS ST MS! 6T60TLISI 6T6U6U6M S LOMHMLD ?

‘Al Positive transfer
GBI LDMMMLD
'AZ Zero transfer

LLS2WI LOMMHMLD

53 Negative transfer

& LDTMHMLD
54 Things transfer

QUITHET LDMMH ML

Objective Question




Objective Question
7 7

A student learns language is related to :
6(H LDTE00TEU 60T QDI 6mIWI SMLIGI 6T60TLIS
?M Reading
60 allgalld
§A2 Writing
aurfl aulgalln
f% Reading, Writing
60 allgalld, aurflaulgeaild
fA4 Reading, Writing and Symbols
60 allgaild, auflaugeaild, GMIui®
The curve which shows typical yearly progress towards mature body size :
QUGBLITHHT 2 L6V aleTFFH WNHTEFEF el ST (HLD 6UEMETEUENT
él Distance curve
SITTLD 6UED6TEU6N T
ij Velocity curve
G6UT CUEETEUEN [T
é?’ Timing curve
GBJLD 6UED6TEUE [T

A4 Total Growth curve

1.0

1.0

0.00

0.00




QLOMSS QUETIE T 666U [T

Objective Question

8 8 Support offered to fit the child's current level of performance is the important feature of : 1.0 0.00

GBS W6 HHCLMENS U Q&I HMemeT QUITIHESI6USMETET (LNHH U DFLDMGSLD :

Al Guided participation

eublaml L iUl L UmIGSsMmLY
{XZ Inter subjectivity

& LQLITH6T
?Ad Scaffolding

LG LLIquinss SIS &5 5e0
{M Private speech

seofllul L GU&a

Objective Question

9 9 For which age Weschler Intelligence test conduct for children ? 1.0 0.00

QUG EVT CF TS EM6ETem U 6T[HG QUGS LDTEoTEU T8 EH 8 G LIUTLR &S Hisvoreoordlemel el
Lo ?

fM 7to 16

7 WN&H6V 16
A2 61012

6 (LPSH6L 12
A

391015

9 LPBH6V 15




A4 10to 17
10 Lp&H6L 17
Objective Question
10 10 Attention is the concentration of consciousness upon one object rather than another stated by : 1.0 0.00

&HEUGITLD 6TEOTLIGI 62(IH QLIMTH 61607 LIS S6160TID QFNG SIS L IDMAMTIH QLIMTHereor g
HEUGTID QFNHHIS TGS — 6TeorT GMILILINLLeuF
Al pumville

L helleuBev

AZ Ross

Grmeny
?Ad Morgon and Gilliand

GLOMFas6ir Lo miLh &evediluibg
.A4 Sharma R.N.

Fym RN

Objective Question
11 11 Piaget found that children are unable to succeed on the three mountains task within the stage. 1.0 0.00

(WIDLDEM6V CEFMHEMETUN GLPHemnGS 6T Qeumml QLM (DIQUITS UUISTSH LNWUTECR damieus :
fM 0-2yrs

0-2 6U(BLLD
A2

C T 2-Tyrs

2 -7 @UBLLD




A3 7-11yrs

7—-11 eU(@BLLD
4 above 11 yrs

11 WS ME& GLoev
Objective Question

12 12 Friendship is formed on the basis of : 1.0 0.00
BLL @&6oriq LiLiemLuileh 2 (HeumHMmS :

?M Caste
2T
?sz Religion
I0&LD
:A3 Socio-economic status

FeNg QUITIHETTSITT Blemev

.A4 Games
allemerwimL_(h)
Objective Question
13 13 Maturation is a developmental process in a person, that is : 1.0 0.00

RO (PHFTEFE eTetTLIS! @F (NETCeTMHM Bl&HLD6)Y, S :

! accompanied with changes in behaviour alone
BL &S LDMMMESIL 60T L (HLD UG

never manifests different traits time to time




Objective Question
14 14

Objective Question
15 15

CBISH MG CHILD QeuslGaiml FL &G GaleflliL(@&SID
3 accompanied with changes in body mind and behaviour

9 L6V, LDGOT LDMMILD BL &M LOMM MKISEHL 60T FMLI(HILD
4 accompanied with changes in body alone

9 L6V IDMMM&SSIL 60T IoL_(hLD HemLQLIMILD

Mediating between id impulses and super ego demands, ego plays a balanced role in making an individual more 1.0
productive in ones society by moulding ones attitudes or skills. Which theory emphasis this ?

SeOfILILILL 2 600TT6) 2_[6S51H & @&LD GLOLDLIL L [HITEIT 6TeILD (LN6060TLIL] & @D @60 G [HIT60T
6T6RILD (LNem6oTLIL] &FLOBlemev LMISTMHM) 6(H HLIK60T LD6oTLILIT6TemnL oM MmILD & memLnsseme6rT
DM AIMING S FELNEHSH MG 2,85 (DETETEU6TTEH LDTHMRMSI. @6 616U MISSILD
Q&MTETeN S WIMSI ?
‘Al Psycho - Social theory

9 GT-FeNS Q& TETEN S

‘AZ Psycho - Sexual theory

D 6T — LML Q& M6ITem &
?A3 Socio - cultural theory

FENSH — HOMEFTISH Q&HTETe0NH
?A4 Social - learning theory

FeLNG — HMMEV C&TETeNH

When does the smile become a deliberate social signal ? 1.0
GTLIGLIMSI L|60T60T6m & QLLDIHS FELNGs 360 L WITETLOMS LDMMISHIMmS! ?

0.00

0.00




Objective Question
16 16

Objective Question
17 17

Al At the end of 15 year

WS UBL @mGuiley
2 At the end of 2" year
@ JevoT LITLD eu(BL @& uilev
é3 At the end of 3™ year
ELOGOTMITLD eU(HL @ MK ullev
é4 At the end of 4™ year
BITEOTSTLD 6UBL @IS ufev

Which cognitive skill is related with learning to read ?

FBLDEGHE0TL 6THS M6 FMTTH M6 LI&HEEH &MHMIS Q&MeTelSHIL 60T QS TLITL|6mL IS ?

‘Al Mental representation

oot Qeuerfllim@)
:A2 Spoken language

QL mSlenw CLIG &6V
f*3 Thinking

FHH 556
?A4 Imitation

LNedTLIM M6V

Which among the following Piaget cognitive development stage is associated with adolescent thinks like a scientist
searching for the solutions in the laboratory ?

1.0

1.0

0.00

0.00




Objective Question
18 18

FELp&oeoorL LIWTC MG medt aueTi&SF mlemeuuilev 6Th& Blemevuiley & LOTLILIIH6IS F 60T
I mMladliev 6 ehEh et &6 U165 S H 60 HJ6) &Tevor LIemG L1 GLITeL FHH &R Mg 6T
6TEOT LISIL 60T QST L6 WIS ?
f“ Concrete operational stage
L@GLIQUITIHET Blemev
:A2 Sensory motor stage
Ljevenfll &8 Bleney
j“ Formal operational stage
&H([HSBH\ L6V [Blemrev
j““ Pre-operational stage
QEFWSIEEG (WML L Blemev

Kannan enjoy teaching lessons to the street children of the neighbourhood in every evening. What behaviour is seen in 1.0
kannan ?

&600T600T60T B e0THBSHTMILD LDMem6eL GBI Cauemeruilel [HSHTeMDUIEL 2 6TeT Q& [HEEUTTE
GLPHNSHEHEHES LIMLLD 6T(HSH S LDGLDH S T6OT. @)F) 6V &5600T600T601 | L_LD &HTeooTLILIL L [FL_&605
W ?
fM Self - Control

FW &L
52 Self - Respect

&W iflumensg

A3 Social Service

0.00




Fens CFemel

A4 Social Awareness

Felnsd lPlLiL|eoorey
Objective Question

19 19 The hormone that controls the functioning of heart and blood pressure is : 1.0 0.00

QBWHH T QFWHLITL MWD, @IHS HN(WSHSHHnSW WD SLOLUUGSSILD QTTELOTeT :

A

! Growth hormone
QUETTES e mFGLOTeoT
?sz Pituitary hormone
W w Ll emryGomes
?Ad Adrenalin hormone
2L fleoTeS 65T QT GLOMTEDT
:A4 Thyroxin hormone

DS IT &G 60T QT GLOMeoT
Objective Question

20 20 According to Piaget pre-operational stage of a child is between : 1.0 0.00

LNwmGLuiled gomMmILILILG &LPTHe0 &S UIN6T N6TEF QIFW6EVLITL 19 ME (WDHemG U LIHeULD 6T6TLIG) :

fM 7 - 12 years

7 - 12 91,600T(H & 6T
52 2 -7 years

2 — 7 24,600T(H & 6T




Objective Question
21 21

Objective Question
22 22

A3 0 -2 years

0 — 2 24,600T(H & 6IT
4
above 12 years

12 24,600T(H & EH &S GLO6L

Criminals who were involved in cyber crime, could have been a good citizen. If type of education was 1.0
provided.

a&FUT Hengllel FHLL Falqul GHmelmeflaeT Hevey Gl L0& 60T TS H&LPHS) (HEHSH
&Hevel QULPMBISLILIL GBS Geusor(hLD.

A

I Computer education

&6vofleof] Sevel

A2 . .
7 Science education

SMlallwiev &Hevel

‘A3 Moral education

RWEHH Heval
{M Physical education

2 LM seval

Babu has a set of attributes, abilities, attitudes and values that he believes and defines who he is, what is this called ? 1.0
UmyellLLD &medT WM reTm HLOLeUSMES LD, 616 & 618 M @& LOIMeoT @)W MLI600TL]& 6T, HMenLn &6,
LD6OT LI LIT60T6m L0 & 6T L0MHMILD LOHLIL| S EHESHT60T Q& MEGLIL| 2_6Tenl. @) & 6T60T60T Gl 6U60TMI
MPHSILGRMSI ?

A

! Self-concept

0.00

0.00




SmEmyy
AZ Compassion
Q@ U&&ID

A3 Model

L&
fA‘4 Society

Fep&LD
Objective Question

23 23 Which one of the following is not affecting the personal factor of a child ? 1.0 0.00
FCL OHTHH&HLILL(R6TaTeummleV &LbHen s UuledT &eoflBLIT STresot] UTHHHTHS :

‘Al Bodily structure and health
2 L6V YemOLIL] IDMMID &&HMSHTTLD
'AZ Intelligence
151 600T600T (6
{B Emotional development
LNETQU(WDEDR aleTIEFH
A4 . .
- Community and neighbourhood
FeN&G LD IDMHMILD j6voTemL e LT
Objective Question

24 24 Educational constructivism is also known as constructivism. 1.0 0.00
&H6vall 9,886 Wemey 21,655 6LLI6V 6T60T6) LD FaMEVITLD.




Objective Question
25 25

Objective Question
26 26

Al Psychological

2 emeiliey
ij Personal
SeoflLIUL L
j“ Social
FeNS
jA‘4 Philosophical
5580MISS5
Select the correct pair : 1.0

FlWms QUGB U 6eTeTend CHI6] QFUISE :

A

! Software Materials —Films, Film Strips, Videos Recorder
QOETQUITIHET HIL IO W6V FMTSETHIGET — LULSQSHTGLIL, LUL&& e, afilg Cuwm UuH ey &mal

:A2 Hardware Materials — Radio, Television, Tape Recorder

QWBH T BILLNUIE) FTS60THI&H6T — UG T, QG TemeV&ESTLE, BITLTL L6 s & el
{B Two dimensional Aids — Picturer, Cartoons, Specimen

@@ Uflnmeoors &Hell&6T — LILBIG6T, G5e0d FNGSH LD, 2_600Temln 0TS ifl & 6iT
?A4 Three dimensional Aids — Compact disc, Models, Sketches
W LILnmesors & mel &6 — GBHSSH®), LDTH L QUITIHL 6T, 6Uem[JLIL MHIS 6T

Active learning is "Anything that involves students in doing things and thinking about the things they are doing " is said 1.0
by :

0.00

0.00




Objective Question
27 27

"QEFWS UMTSS SienlLiel FHIWMS HHmis QameTal gD, au@GLLUenmuiley &Hmid G & TeTelen s s
&5 L0MeooTeUJ&HEHL60T LS TH S, Weoor(hLD Levor(HD QFWeLLIT(HSemeTd QF IS &M mis
Q& ITeooTL. HMEem6oT Uil L& QEFUIaISID QF U6 aulbldh SMMeV QLG LD" eTeoTmaI

A

! Felder and Brent
QLIVL[J & LIIFenorL_
{X2 Bonwell and Eison
S&G@LITETG66V & 83IT60T
?M Murnane and Levy
wWIeCT & Geval

A4 Gardner Murphy and P. Smith

STFLT rel & P. &10l5

Which one of the following statements about learning is correct ?
LY edTeu (HeueTaummieT &MHMeL GG S SFiflumeT Fam :
Al _ . .
_ Learning is a passive receptive process
HMHM6V 6TEOTLIG! LOHSLOMTEOT (LNeMM UL & (55 SI86M 6T Q\LIMIS 6D
52 Learning does not depend on learners previous knowledge
&HMHmev SMHCUMIfl6T (PHemS W SMleneld FMIHSHH 3{6V6V
-~ Learning is equivalent to acquisition of skill

&HMHMEV 6T60TLIGI 62(H HMen6oTLl QLIMIAISMNE FLOLDTEOTS

A4 Learning is facilitated by social action

1.0

0.00




Objective Question
28 28

Objective Question
29 29

&HMHMEL FeNG Bl&LD6|&HETTL aUIBL &G L1LI(ID

Family problem, quarrel between the neighbours negatively influence the child learning is based on the factor :
SO LU LN JE56em6nT, 3{600Tem L U6V IT(HL 60T F60oTet F&FT6] CLIMETMaIMMITEV 6(1H

SLPHenSUN6T HMHMeL LIMTHLILIemL UG LN6Tel[HLD 6755608 L SITI6ollem Ul 3{1q LILIeNLWLITE 8
Q& ITevoTL_GI ?

fM Personal factor

SeoflLILL L smyevof]

52 Mental factor

2 6D FMIIHS &ITT6vof]
A3 Social factor

FeLNG& STIevor]
Ad

. Emotional factor

LDEOTQ U EF & &5TIT600l]
Which one of the following is not a three dimensional material ?
QEMH&SLILLLaimmlev (pUIUFDmeoTL QUITIHET 6VeVTH S :
AI Diorama

L GWImILIm

AZ Flannel Board

LIGITITE0T6V LIGV6M &

A3 Models

1.0

1.0

0.00

0.00




Objective Question
30 30

Objective Question
31 31

TS ifleer
A4 Globe

9 VS 2_(HE0OTED L

Teacher gave a challenging task like debate on "impact of global warming" in the classroom to promote higher order
thinking skills is :

2 W FbFHemert HmeirdeneT CNLMSS 2P FWT eu@&LLemmUIl6D DTeooTe)l T8 EH & &
FEUMELITET QIFW6VMS "Ljal QeulILMWILDTES6VTe HLIBILD 66m6e|86me6T" a6l TH &8 &
QEFMLEUSI :

Al . .
" Learner centered instruction

SHBUTT emowl SMHLNG G560

AZ Teacher centered instruction
2AAFWF emdw HMHLIGHH6L

A3 . . .

7 Curriculum centered instruction
FHMVSHIL L emlowl SMHLINE S 60

A4 . .

~ Technology centered instruction

Q&THl6L HIL LI eminwl &MLINE &6V
"BIHUS CBHIlemd G 6u600T LTSS 6T" & M600TL BTV :
Al

15 60T @\ 60T ()]
A2

1.0

1.0

0.00

0.00




beveuLdl
A3

BOIHOHTENH
A4

ALIOGAENEE:
Objective Question

32 32 . . . . 1.0 0.00
GUEFSHQWMLSlem Ul QULDE (G 6TEOTMI T MIGUT.

Al
Sriw
A2

2 6LVEH
A3

Ad

Quomigl

Objective Question

33 &iflsmevenfledr @UIMQLIWIT : 10 0.00

Al

S eiTerf] 666U 60T
A2




Objective Question

34

Objective Question

35

34

35

6L 61T6U 60T
A3

T3y T3 60T
A4

GCLMEHSIMIG G& LT

allebeumMmedlev FNMHSH &6 QUI(LD GUETET6V :

Al

&Ifl&mevedt
A2

Gu g 60T
A3

e[f]

Ad

S\F Wl eoT

&60T HHBICHTL(HF EnlWimenLpL] Liemesor UL emeus Sl 6l (b1 S5 erfl & & MedT 6eTedTm Q& WIS eml&s

FaMILD HT6L :
Al

SNBSS T FH
A2

1.0

1.0

0.00

0.00




AHSBHMTATD

A3
LM bITeRTOI
A4
15 1] 60 6v0T
Objective Question
36|36 AR5 Gme - QUWTSHSTI6TD QUMHMS 10 0.00
Al
FNWSTEH @ IHLILIST6V

A2

aflenTalms LB 6 &F 60656V
A3

fL 196V Fa(h) &L_(HeUsTev
A4

FILQLeTm LImLILIGITeV
Objective Question

37 37 .. . . . . 1.0 0.00
FLOWS 5556IMm&Em6T leuTH &G &H([HES HT6V :

Al

GHauUmILDd
A2




Objective Question

38

Objective Question

39

38

39

BeuCaH&H
A3

QuflulrmeoorLn
Ad

G mLIL|[Jmeoor LD

'Orthography' — SLALO6L QLITHET M5 :
Al

ETVILDLS6T MM LIG.&E&LD mlelluley
A2

TS H6V8:8600TLD LIMMIWIg!
A3

Bl600T&SH) TS 6 LIl gl
A4

| 600f]l @ 6V&&H6voTID LMl WG

&), FTIBTT T 6T(RHW FTRSH W &TASL ll(hg QLIMHM BTV 615 ?

Al

GHMLIVLTSHGI DG EH6T
A2

1.0

1.0

0.00

0.00




G& TGV SO
A3

LwedGev e G55 mevor]
A4

FEHEMILD
Objective Question

400 "ULI19.L06vor L LILD eFmnlement, g Milement; 6TL_19.CeotT(h @ Tevor(h D Ml CwieneoT " 6TedTm 6uifl&6rT 1o 0.00
QLD QUMM HBT6L :

Al

&5 LD LI ITLOIT U 600T LD
A2

Fleu ILF&TTLD
A3

F(HEUTEFSHLD
Ad

&) ([HeUmMULQ LT

Objective Question

41 41 . . . 1.0 0.00
"GIF MM 60ILD" 6T60T LIS 60T GILIT(IH6IT :

Al

QeUMIGSTEOLN




A2

LOMEUTERLN
A3

GUMMIemLD
A4

2 _Salmenln

Objective Question

2 e HEIMSE Q&MevoTL CFMLPLTSH 6T Cahmallev alllnmeordFH60 2_6TeT &6069160T 6UIQ LD : 1o 0.00

Al

FSITLD
A2

QF6IAISHLID
A3

6MT UL L LD
A4

QL L ellgellD
Objective Question

43 43 . . . 1.0 0.00
S|6TQLIEDL 6T60T LIS 60T QLITIH6T :

Al

GDHS! 60556V




A2

Hevor(h) e260l& 560
A3

LB L) 6269556V
A4

QILI958 @556

Objective Question

I GLo6L LIM&6flelT 39 emW BTeEG QSTHID CUMS LNIMEGLD 1SS! : 1.0 10.00

Al

A2

A3

A4

Objective Question

45 45 38l + @TCMEV —- QFQFTMHMETEF CFIHS TWHES e LiLg . 1.0 0.00

Al

3 S1@)60TC M6V




Objective Question

46

Objective Question

47

46

47

A2

1 SIWeTGMmeV
A3

I si1aleT@mev
A4

91 816160TGM6L

Bflasb &g 5 6r e Flw :

Al

H6V6VITS 60T ITIJ
A2

S|LDELNGUGDTITIT
A3

LLSEHCFHS60TIT
A4

&6001 |GG Ml uImy

(P edTEdTlemeVL] QLILIT S @EB6T LIGTemnLOL] QLW {6V6VMTSH S 6TS! ?

Al

Biiger

1.0

1.0

0.00

0.00




A2
131
A3

ey
Ad

Objective Question

48 48 . . . . . . 1.0 0.00
F(.61.5. GoMID '@ UIMNENS G)60TLI QUITLNE) BleM6eVUIMBIGET 6TeoTd &L L LI QLIMILIENE :

Al

USSILIUTL ()
A2

&0 50 &M 5
A3

FeulILG &ML, LN6oo 1 GL0 8 6m6V

A4
Quiflwyrmeoor LD
Objective Question
R 'QLENH G CLIMEHEV' — T6OTeRID QLIMTIHEM6TE GMl&h &L Q&FTeL : 10 0.00

Al

@ emer




Objective Question

50

Objective Question

51

50

51

A2

@606V
A3
A4

& 6016V

BT 6T BE) HTe06L 2 6T6T QLOM&HS LITL6VE6T 1.0

Al

42
A2

40
A3

64
Ad

68

2 W7 e & & LetTellQpevor(hLD, 6Temd @) LL0M& Gl&mevor(h) LN m& S 6orm Sl ? 1o

Al

LD

0.00

0.00




Objective Question

52

Objective Question

53

52

53

A2

L)
A3

SHWHI!
A4

QUL

SIBWTESSTET el D&TRaT FHSLD aarmib Siblmus CEThoess wam@:

Al

1885
A2

1857
A3

1892
A4

1890

2 WIFQW eTPSH60 QS TLREIGLD QFTLISE LEdT ETEOTEDILD Q& MEVEMEULI .o jo.00

LweTUBh &S Geuevor(HLD.
Al

QU




A2

EYEY
A3

Qs
Ad

A&l
Objective Question

54 54 ) L . 1.0 0.00
'D_LILIMEUOTLGULD' 6T60T M HBIT6M6V 6T(LDGH Ul .

Al
QQUWIGLOITE 60T
A2
Nrymer& e Sum
A3
QQUISITHS 60T
A4
6TeN. @) 7ML &) (IH 619 600T 60T

Objective Question

55 55 . . 1.0 0.00
A& & &FIT60)6V 6T60TLIGI .

Al

960011560607 EHLD QLITMH & TE&HEHLD 2_(HeUTEHGLD @)L LD




Objective Question

56

Objective Question

57

56

57

A2

BHeUTSH 60TmRIE6T L emL S SL(HLD @LLD
A3

GUMT&S & (HeNIGHET 2 (HeUME G @)L LD
A4

Smeoflwb eNlMLIem 6T QFUIW|LD @)L LD
8560076007 &) HHNTEF CF I IHSH6U6T.
Al

UEHF ST
A2

Q&HTMENS HST
A3

L&Y &
A4

L0 ZIE0] [B&T

‘B0 2 uNFELImev eTeue U HLD & TG 6OTEIT M &5600T L (H6TEw [T

Q&FLDEMLDOWI[HEH S J6U6V6T6TM G & UGG 60T'
— 6T60T @ emMmeUentlL LD Geuevorlq Uil :

Al

1.0

1.0

0.00

0.00




GUGITEITEVITIY

A2
&MU LDTEOTEUIT
A3
UL IQeoTS ST
A4
S|Beoor&R ] BT
Objective Question
58 |58 . . . . . . ) . . 1.0 0.00
FISH D aITSH VD 2 6015 G @)6M600T QFMTeLEV WIMHEoT(H? WM WTHILLD SJamluig ?
Al
626IT6M 6L WITIT — G\ &5 IT600T60) L_LOT60T
A2
RETEM QU — O H UL TEdT
A3
eemeneUwmy — Ui
A4
QETEMUWITT — aU6VeN 6L 61
Objective Question
59 59 1.0 0.00

&I6001] — @\ &F QFMELEVIL 6T QILIMTIHHSH TS S

Al




2 U&LD
A2

66U WLILD
A3

©@BITeLLD
A4

L&D
Objective Question

60 60 1.0 0.00

o6er L6 60)60T LI LILLIGHT QLIMT(HEIT :
Al

(W esTel 60r60T LI LI ULIGOT
A2

Q&FUIS Q&FWed6dT LiuledT
A3

Smiflulll Liwesr
A4

& ITIT600T L1 LIUI60T
Objective Question

61 61 Fill in the blank with the correct word. 1.0 0.00
A day without is a day wasted.




Al laugh

52 laughter
fA‘3 laughing

A4 laughed

Objective Question

62 62 Name the figure of speech that is employed in the line. 1.0 0.00
"Having a friend is like planting a flower."

‘Al Metaphor
A2 Simile
A3 Personification

'A4 Anaphora

Objective Question
63 63 1.0 0.00




Objective Question
64 64

Fill up the following with suitable conjunctions :

(i) The box was heavy __(i]  he could not lift it.

(ii) Eatslowly _ [ii)  you will get choked.

(iii) Velu thanked his friend __{iii)  he helped Velu in time.
(iv) It rained heavily __ (iv] the match confinued.

AL i) or (i) because (iii) but (iv) so

A2 4 so (i) or (iii) because (iv) but

A3 i) because (i) but (iii) so (iv) or

A

4 (1) but (ii) so (iii) or (iv) because

Who is the author of the popular children's thriller, "The mystery of the cyber friend ?"

‘Al Ruskin Bond

AZ Zac O' yeah

53 Anna Sewell

1.0

0.00




A4 Daniel Ho

Objective Question

65 65 Re arrange in a meaningful cogent order : 1.0 0.00

(D) He made a tent and lived in it.
(IT) He explored the Island.

(IIT) He took some food, guns, clothing and tools in it.
(IV) He found the broken ship.

AL vy, an, @,
A2y, av), am, 1)
A . an, av).

A% 1), @, an, (av)

Objective Question

66 66 How many syllable in the word 'adventure' ? 1.0 0.00

Al 4

A2

A3 4




A4

Objective Question

67 67 The autobiography of Sachin Tendulkar is . 1.0
fA‘l Wings of Fire

A,’Z The Adventures of Tom Sawyer

53 Playing it my way

.A4 Discovery of India

Objective Question

68 68 "Thank you" is an example of . 1.0

A

I Subject
AZ Designation

53 Salutation

0.00

0.00




54 Complimentary close

Objective Question

69 69 Which combination of parts of speech gives birth to this compound word 'rainbow"' ? 1.0 0.00

verb + noun

2 .
noun + adjective
noun + noun

4 verb + gerund

Objective Question

70 70 'Patachitra’ art of story telling using painted scrolls is established in : 1.0 0.00

fM Naya
{&2 Mysore

A3 Hyderabad




Objective Question
71 71

Objective Question
72 72

A4 Tanjavur

A Cinquain poem should have lines and words.

Al g

Find out the synonym of the word "meagre".

€normous

2 paltry

‘A3 huge

A4 immense

1.0

1.0

0.00

0.00




Objective Question
73 73

Objective Question
74 74

Find the relation to find the missing word.
Bread : Bakery, Brick : ?

Al ik

A2 Kiln

‘A3 Furnace

A

4 Ball

Find the correct abbreviation for EMIS.

AI Education Management Information System

52 Educational Managing Informative System

‘A3 Educative Management Information System

A4 Educate Managing Information System

1.0

1.0

0.00

0.00




Objective Question

75 75 Which is the one that does not belong to the group ?

fM Cricket
AZ Hockey
63 Football

54 Chess

Objective Question

7 76 Which alphabet is a part of our body ?

Al ¢
A2

A3

Ad

1.0

1.0

0.00

0.00




Objective Question
77 77

Objective Question
78 78

One gives personal details in a written form for an appointment.

fAl Letter

52 Narration
fA‘3 Resume

A4 Essay

Find out the odd one out.

AI Biography
52 Autobiography
‘A3 Bibliography

A4 Travelogue

1.0

1.0

0.00

0.00




Objective Question

o9 Syllabify the word 'imagination'. 1.0 0.00
Al . . .
. 1-ma-gl-na-tion

ima - gi - na - tion

1 - magi - na - tion

im - agi - na - tion

Objective Question

80 80 Choose the word with same meaning for "not feeling comfort". 1.0 0.00

él discomfort
§A2 depressed
:A3 disgrace
A4 disdain

Objective Question




81 81 Flag day is observed on the

Al
. 7th December

A2
7 8th December

A3
7 9th December

A4
. 10t December

Objective Question

82 82 The boy speaks loudly - What kind of adverb is underlined ?

A

! Adverb of place

{&2 Adverb of time

A3 Adverb of manner

54 Adverb of frequency

Objective Question
83 83

1.0

1.0

1.0

0.00

0.00

0.00




hatch the following :

{a) Homonyms i) is a shortened form of g phrase

(b) Homophone {ii) a word that reads the same backwards as
forwards

c) ACronyms {iii) words with same pronunciation but different
meanings, origin or spelling

(d) Palindrom (iv] two or more words having the same spelling
and pronunciation but different meanings and
origin

AL @)-(iv), (b)), (0. (@)-(iD)
A2 (@), (b)-Gi). (¢)-(iv). (d)-()
A3 (@i, (b)), (o). (d)-()

A% @G, (). (e)1-(iv). (@i

Objective Question

84 84 Anbu was talented in Catching fish. 1.0 0.00
In this sentence the underlined word is used as

A

1 Adverb

{X2 Adjective




A3 Participle

A4 Gerund

Objective Question

85 85 Find out the simple sentence. 1.0 0.00

fM He must work hard to win the first Prize
A2 . .
7 The evil that men do lives after them

A?’ Give me the book and I will read it

54 You must hurry or you will miss the train

Objective Question

86 86 Take the odd one out. 1.0 0.00

A

L pilot

{X2 Cockpit

A3 Deck




Objective Question
87 87

Objective Question
88 88

A

4 Black box

Fill in the blanks with appropriate form of the verbs from the options.

If I had seen him

AL 1 will tell you

.AZ I would tell you

A3

-~ Iwould have told you

Ad

- I'will have told you

Indra came

early

2 earliest

A3 more early

this morning.

1.0

1.0

0.00

0.00




earlier

Objective Question

89 89 Calf is a young one of Elephant and Cow. 1.0 0.00

Now pick the young one of a swan.
fM Cygnet

fA‘Z Fawn

A3 Chick

54 Foal

Objective Question

9 190 Pick out the correct ' NOUN + VERB' compound word from the given compound words. 1.0 0.00

fM Earthworm

{X2 Bloodthirsty

A3 Homework




fA‘4 International

Objective Question

91 91 A wire is in the shape of a rectangle of length 28 cm and breadth 20 c¢m is bent to form a square. What will be the side of
the square ?

28 Q&.18 HeTIpLD 20 Q&F.19. 60NN Q& TEooTL Q1F6U6IS 6ULg.6U SN WITETE eUem6Ts&LILIL (b
F3IT aulgellev MMHMLUILKSMSI 6760160, FHTHH 60T LG8 2 6mel6m60Td: & IT600TS.

1.0 0.00

AI 12 cm

12 Q&8
?A‘Z 24 cm

24 QF .S
?A‘3 36 cm

36 Q&S

_A4 48 cm

48 Q&.10

Objective Question

92 92 1.0 0.00

3‘5 ><3_3 ><34
32 x 37 1x372

simplify 2

36x3 3 x3?
3P %37 1x372

&(h&(HS




Objective Question
93 93

Objective Question
94 94

An office works from morning 10.30 am to evening 6.45 pm. What is the working hours of the office ?

R(H SVRIVSHLD SMTem6V 10.30 (LNSHEV LDTEM6Y 6.45 UM QF WS MG 6T6v1160 215 65T Gauemev
GBI

Al 480 min

480 )

AZ 495 min

495 B)
A3 460 min

460 )
A

4 500 min

500 )

1.0

1.0

0.00

0.00




Objective Question

95

95

A land is in the shape of a rhombus. The perimeter of the land is 160 m and one of the diagonal is 48 m. Find the area of
the land.

62(IH BleVIDMeoTS! FMUL F&IT aulgeilev 2 _6Tenal. Blevs&H 6T FMMeTe| 160 LS LDMHMILD 3|5 60T 62(H
eLnen6v NI L &5 60T 366y 48 LS 6T6dT16L 3B 5 BlevSH 60T LITLILIGTE06UE 85 T600TSs.

Al

1720 m?
1720 LS§?

A2 5
1843 m

1843 L§?
A
, 3 1536 m?

1536 L2
A4

1436 m?

1436 152

Study of devices that are measuring the time is called
FHMVEMNG 3|6TEHG SIS TTRGm6TL Lmmiw U lIinHa 6TEOTMI QLIWI.

:Al Horology
QmMImeugs

:A2 Solar year
Gl eu@pLLD

53 Lunar year

FH&E T aUBLLD
A4 Solar month

1.0

0.00




G&flw g0
Objective Question
96 96 Find the sum of the first 20 natural numbers. 1.0 0.00
WO S6L 20 @)ULI6V 6T600TSH61T160T Fn (D H6V WITSI ?

Al 00
200
A2 400
400
A3 510
210

A% 150

180

Objective Question
97 97 A road was leveled by using cylinderical Road leveller, its height is 3 m, and curved surface area is 26.4 sq.cm. use the 1.0 0.00
road leveller by 8 times - how much area levelled ?

&(H 2_(HEMEIT QULY.EU(LNEITET LIS FLOeTLI(HSSID &HHalleniss Q& meor(h) LITens

FOATURSSLILORMSI. &H60T 2 WIFLD 3 1S FH60T FMMeTe)] 26.4 &. Q& .19 eTeofl6v 8 & mmiserflev

6TeU6U6Te) | LITLIemL FLoeTUM &S (LNLGUjLD ?

Al

411.2 m?

411.2 S?

A2 5
7120 m

712.1 L§?




Objective Question

98

Objective Question

99

98

99

A3 4121 m?

41.21 5?2
A4

211.2 m?

211.2 15?2

The smallest square number which is exactly divisible by 2, 3,4, 9, 6, 18, 36 and 60 is : 1.0

2,3,4,9,6,18,36 LnMMILD 60 24,5 W 6T600TSH6MTeL LG UN 6T 6uG LG W&EF F Ml WDW aIFEHS
6T600T :

Al 900
900

A2 1600

1600
A 3600
3600
A% 400

400

1.0
The value of 3-,}19683 =

19683 it 1Ly =

0.00

0.00




Objective Question
100100 The number of days between Independence day and Teacher's day is : 1.0 0.00
FESHHT HeTEH MG R FWT HeTsH MG @) 6emL Gl 2_6TeIT [HITL_G6rT1 60T 6T6v0T6001 185608 :
fM 20
20
52 30
30

A3 4o
40
Ad 5,

50

Objective Question

101 101 Find the value of x in the following sequence. 1.0 0.00
1,7,25,x, 121
QEMH&HSLILILL eTevor auiflemauilev x 60T LOF) L 160ILIS> &5T600TS.
1,7,25,x, 121




Al 64

64
AZ 61
61
A3 49
49
Ad 3

63

Objective Question

102 102 1.0 0.00

What are the possible positive integers 'a' and 'b' such that ab =129

aP = b? 6TEILDMMI S{6MLOULD a, b 6T6dTM L6I& (LD (LDES56IT 6T60TEOT 2
Alg g
0,1
A2 1,2
1,2
53 2,4

2,4

A4, 3

2,3

Objective Question

103 1103 The next term of the pattern 1, 2, 5, 6, 14, 24, 30, 120, . .. . .. 1.0 0.00
1,2,5,6,14,24,30,120 ............. 6T60TM 6T600T 2|eMLOLILN 6T 2| (D& 6T600T :




Objective Question

104

104

Al g
91
AZ 55
55
A3 720
720

Ad gy

1.0

= — = % and 2q + p = 40. Find the value of (pg)2=2

2
D

. Gogyiib 2q + p = 40 etesfléd (pQq)? it LHIL| HTevsTS :

L
o
; 2 | Q
g — + — = —
@@p a0

Al 4o

40
A2 400
400
A 1600
1600

A% 160

0.00




Objective Question
105 /105

Objective Question
106 106

=)
| e

160

Ascending order of the fractions

L4
¥

Al

A2

2

-

Ad

-

o Jlo Blw &w

—
~J

The generalization of the pattern 0,

(%]
c:“*‘-"

N RN 8le 8o

-

a5
12

N SIN BN BN Sle Slo Sl gl
Blo Blo o Jo Blo Blo 8IN RIS

(R

15

s
17' 80° 12

, —= &l Yeitesrrugerflest symisuflems .

A
= J

| w
o | I

4 : ; : 2
'3 g e STEOTD {16t blumg) sulgeD :

are .

1.0

1.0

0.00

0.00




Objective Question
107 107

Al 2 _ o

n+ 3

n+ 3

A2 n -1

A3 n? 4
© s
e
n+ 3

A4 =2

n+ 2

n+ 2

Find the range of the following data given below.
35, 32, 30, 37, 31, 38, 37, 25, 29, 32

FCL QHTHH&HLILIL (R 6TT elaUhI&HEHE G, 6558 &IT600T5.
35, 32, 30, 37, 31, 38, 37, 25, 29, 32

Al 33
38

A2 55

1.0

0.00




25

A3 s
13
At 3
63
Objective Question
108 108 1.0

How many friangles are in the following figure 2

leiTeu(mLD ULSHI60 eTEHen 60T (L& GHTEmTRIGET 2 6Temg) ?

Al e

16
A2y

12

0.00




A3y

14

Ad o

10

Objective Question
109 109 The encryption form of 'BEAUTIFULL' is 'EAEQYELQSH' then the encryption form of ' MATHEMATICS'is : 1.0 0.00

BEAUTIFULL 6TedTm eumig 60 Wiledr e m@&mMluf® EAEQYELQSH 6760fl6b MATHEMATICS 6T60T L1 60T
e M&SMIUT :

A ! PWXDIJIGPPAY

PWXDIJIGPPAY

{%2 PWDXIJGPPYA

PWDXIIGPPYA
53 PWXDIJIPGPYA
PWXDIJIPGPYA

54 PWXDIJIGPPYA

PWXDIJIGPPYA

Objective Question

110 110 What is the next number of the sequence 1.0 0.00
0,2,6,12,

0,2,6,12, eTedoT QSTLT auflensuledr 2HS&S eTevor WIS 2

Al 34

30
A2 20




Objective Question
111 111

Objective Question
112 112

20

A3 9
2
Ad 55

25

Find the remainder when x*+ 10x3 + 35x% + 50x + 29 is divided by (x +4): 1.0
x*+10x3 +35x2 + 50x + 29 3 (x + 4) &V UGB HE P60 &G LG em WIS &Te0oTss :

Aly

4

A2
5
A
6
Ad

11

A mat of length 100 m is made by 10 men in 16 days. How long will it take for 50 men to make a mat of length 250 m ? 1.0

100 LS BETULN6TET 62(h LIMUI6060T 10 2,600T&H6IT 16 BITL_S6rflel Q&FUIgG 60T, 250 LS Bempeter
LITUSemeoT 50 ,600T856IT Q& UL 6T S6M60T [HITL_856T 3, &L ?

Al g

0.00

0.00




Objective Question
113 113

Objective Question
114 114

A2

A3

Ad

The value of

14
16

16

24

24

373 — 273°
3732 1 373 x 273 + 2732

T

3732 + 373 % 273 + 2732

Al

A2

A3

Ad

100

100

300

300

500

500

600

600

6TEBTLIS60T Lo&ILIL]

1.0

1.0

0.00

0.00




Objective Question

115

115

Evaluate 173 - 213 + 43,
173 -213 + 43 &1 LDGILIL]

Al _ 424

4284
A

2 4284

4284

A3 1926

~ 126
A% 106

126

The radius of the spherical balloon increases from 20 ¢cm to 24 c¢m as air being pumped into it. The ratio of the surface area 1.0 0.00
of the balloons is :

6(H CSITET U6 66T 8 Fon600TLY 66T HTHMI 2 HSLILIHILD CUITSEH 60T LT 20 Q& .15 —69(BH S
24 Q&5 945 2 WIHH M. @@ LmLiurgliLsserfler & s :

Alg. 16
9:16
A2 536
25:36

A3 9024
2024

A g1.256




Objective Question
116 116

Objective Question
117 117

81:256

If the area of the rhombus is 120 sq. cm and one of the diagonals is 16 cm, find the length of the other diagonal. 1.0

(h FMUIEFSTSHH 60T LFLIL| 120 &.0&.15 LnMMILD SjeummleT e eLnemnevalll_ L &&)6or [Herid 16
Q&.10 6T6ofl6L LDMGAMITIH eLPem eVl L &G 60T [HerLD

A

! 120 cm

120 Q&8

52 15 cm

15 Q&9

53 16 cm

16 Q&F.18
A

4 20 cm

20 Q&F.15

If a company pays 6 lakhs for 15 workers for 20 days, how much would it need to pay for 5 workers for 10 days ? 1.0
6 B MIGUETLO TS 20 BITL.SHEHEHE 15 CaUenevUIML_&EH5HE 6 @6V FLID Q& Ten&HemLl

DTHLILDMTES QULPHBIGH MS! 67601160, HHBIMICIETSH MG 5 CaUmEUIITETHEHE G 10 BITL_&5EH5H G
DTHILDMTE UPMHISLILGILD QS Tenss :

Al Jakhs

2 QUL_&FMmIG6T

{X2 3 lakhs

3 GUL_GFBIG6T
A3 4 lakhs

0.00

0.00




4 UL_GTRIG6T

A% | Jakh
1 VL&D
Objective Question
18 118 A particular observation which occurs maximum number of times in a given data is called its : 1.0 0.00

R STallev AUF&HWemM @ LD QUHmIETET 2 MmN 6T GHLIL] :

Al
" Frequency

1518 LD Q) 61 600T

52 Range

g &

AS Mode

W&
A4 Median
@) 60 L_[Blemev 2 6me)

Objective Question

119 1119 At 3.30 pm the angle between the hour hand and the minute hand is : 1.0 0.00
LOITem6L 3.30 lemailey, nevofl (eTerflM@ LD, BILAIL wpeTeflM@& b @ 6L Gul 2 6T G&ITeuoTLD :

Al
greater than 0° and less than 90°

0° 23 el H& LD MHMILD 90° 83 Nl &Gemmey

2
greater than 90° and less than 180°




90° &3 el 9B &0 IMmMILD 180° 3 el Gemmey
3 greater than 180° and less than 270°

180° 83 il 9H\&1D LMMILD 270° 3 el & 6mMme
4 greater than 300° and less than 360°

300° 93 el FH&LD LMHMILD 360° 3 el &H6emMme
Objective Question
1201120 The number of two digit numbers that can be formed by using the digits 1, 3 and 5 with repetition of digits are allowed is : 1.0 0.00

1,3 IDMMID 5 QL& U §)6V&HSHBIGE6T H([HLOL eUHMTM LIWeTUGSS) 2 (HeaumsasliuUGILD
@ ILenL @)6V8:8 6T600T8s6TT160T 6T600T600T 1856085

Al
9
A2
6
A3
3

At

1

Objective Question
121 1121 Pick out the correct pair : 1.0 0.00
Frflwmet @emetorenl CHFHGH(H&&HE6LD :

fM Kumarakom bird sanctuary - Tamil Nadu

GLOISHLD LIMem6U FIeoormeullLd — SLALPBT(H




Objective Question

122

Objective Question

123

122

123

AZ Bharatpur bird sanctuary - Andhra Pradesh
LTSLLT LIMem6l FIesor meullild — S Il LNFGs&FId
{B Mayani bird sanctuary - Maharastra

LSlwimest] LImemeu & IesormevUlLd — LM ITITTEIQ L [T T

fA‘4 Koonthankulam bird sanctuary - Kerala

Fo [5G 60T (GH6ITLD LIMED6U &FJ600TTeVUILD — G&TETIT

Assertion (A) : Rajaji was arrested for breaking the salt law.
Reason (R) : 12 volunteers under the leadership of Rajaji by breaking the salt law picked up salt.

Fahm 2 LLF FLLGMS ISHWSDHEHTH @TTmel endg Q&L LT.
&Myeoorld : @meamedluller &emevenlnuiley 12 Q& MeooTLF&H6T 2 LILF FLLEMS LMl 2_LlemL
IleiTerfleory.

fM (A) is correct (R) is correct Reason

Famm &ifl, sryevorld SFiflwimest ellemg&Ln.
A

2 (A) is correct (R) is wrong
Famm &ifl, sryevorld siflwimest ellems:&Ln6vev.
‘A3 (A) and (R) are wrong

Fon MM LOMMILD &TT600TLD &HeUml.
A

4 (A) is wrong (R) is correct

FaHM HeUmI, STyeoorld &ifl.

Choose the correct answer :
National Jute board is headquarter at

1.0

1.0

0.00

0.00




Fflwmer allemLenws CHIHASHI&GSHa D :
GHF W FevoT6v GUITHIWGS S 60T &66)6V6MLOLISLD 6L 2IEOLDHSIGTOTSI.

Al Odisha

R &M

fA‘Z Kolkata

QHMTVEHSH ST

‘A3 Mumbai

(LPLDEmL
A4 Gujarat
GEDR:
Objective Question

124 124 Which of the following statements is not true ? 1.0 0.00
BCL QHTHHSHLILIL (R 6TET Fon MHMIG 6 6T 2_600T60LOLIVE ?

fM Keezhadi is located near silaimaan East of Madurai
aimTulledBHa HLPEH 6L GFlem6VLDITEIT 6T60TMN 26T(HEHE | HE6L BLOL 2 6TeTSI.
52 Excavation throws light on brick buildings, drainage, Tamil- Brahmi Inscription

|G LPITUI6Y&6rT16T eLn6euLD QFMISGM &L (HILOMETHIS6T, SleyBT euldl&eT InMmmih SLilD
LNomdl 615 518 86T &600T(H L1988 LI (H6ITerTeoT.

53 The Excavation at Keezhadi dates back to Sangam Age
|G LPMUI6YS6rTl6T eLneuld BLplq, FMhIS HTVSH MG (LNIHeN S UIS).
A

4 Sulphur Rods were also Excavated




Objective Question
125 125

FeuLlJ &LDLN&EHLID 985 Mie a6l &eoor(h L1968 LILIL (H6Tergl.

1.0

Match List-l with List-ll and select the comrect answer by using the codes given
below :

(a)
(b)

(c)

(d)

(e)

List-I
Art. 14

Art. 21

Art. 26

Art. 27

Art. 29

(i)

(i)

(iv)

List-lI
Protection of life and personal liberty

Protection of language, script and culture of
minorities

Equality of opportunity in matters of public
employment

Freedom from payment of taxes for promotion of any
religion

Freedom to manage religious affairs

0.00




F1p& el Ul gulsuseneT GlUM(mES] FflwmeTeumenm STeoms

LI 1gwisv - | U iguisv - I

(@) ifley 16 (i) SUMDE&ENS LMMILD Hesflul L &&bHSITsHHmEL
LUTEISTIL Glumib 2 flemio

(b) S1fley 21 (i) Flmumeiremwoudlsoriflst eT(0& 51, ClomLd]
LOMHMILD HEVTFFTTL LIMSEISMLIL

(c) 91fley 26 (iii) Clumrs) GeusmsvsumiiliLserflev Fo
sumiuerflg 60

(d)  Yifley 27 (iv]  erbsbleum(m W&HemHL|D LIFLILISUSDSTS

suifl ClFanI5 g 1eugNHelE&ETTer HaMbhEITD

(e) S1ifley 29 (v) FOW sfleusTTRIGen6T HlTsusbls G0 2 iflenn

AL @)-(ii), (0)-(0). (©)-(v). (-, ()i
(@), (b)-(1), ()-(iv), (@-(v), ()-ii)
A2 @)-(i). (0)-(0). (O-(v). (d-(iv). ()i
()i, (b)-(1), ()-(v), (d)-(iv), ()-i)
A3 (@160, (©)-(i). (©-(iv). (@-(v). (@)
(@)-(), ()i, (€)-(iv), (A1), (e)-(ii)
A% @-(iD). ©)-(iD). (©-(iv). (@-(). (V)
(@), (B)-(i). (©)-(1v), (D-(0), (€)-(v)

Objective Question
126 126 1.0 0.00




Match "A' with 'B' :

A
(a) Execufive Powers (i)
(b) Cabinet Ministers (ii)
(c]  Military Powers (iii)
(d)  Judicial Powers (i)
(v)

QUMHSSHSE :

A
(@) mliums yEsmrn
(b) sSTUQeTL e TEeT
(c] @umgmie HH&TyD
(d B8 s\Blengh

Al
A2

A3

(a)-(v), (b)-(i1), (¢)-(iii), (d)-(iv)
(a)-(v), (b)-(i1), (¢)-(iii), (d)-(iv)
(a)-(i1), (b)-(iv), (¢)-(iii), (d)-(v)
(a)-(i1), (b)-(iv), (¢)-(iii), (d)-(v)
(a)-(1v), (b)-(i1), (¢)-(1), (d)-(iii)

|Br

Article 33 (2)

Appointing the Prime finister

Article 72

Body of Senior Minister

FPrime Minister

(i)
fii)
(i)
fiv)

{v)

B
FULOliley 53 (2)

Uoswn oyemndsany Bludlsse
FlLnfley 72

(LS ETEMILD Sy 6M LD & F THEN 60T SyemnLiL]

YosD oyemingFEi




Objective Question
127 127

(2)-(iv). (b)-(i). (€)-(D). (d)-(ii)
A% @i, (0)-(v). (€10, (@i
(a)-(ii). (b)-(v). (e)-(). (d)-(i)

Match column 'A' with column 'B'

A
(a) Golden Revolution
(b) Silver Revolution
(c) Red Revolution

(d) Brown Revolution

=) Yellow Revolution

(i)
fii)
(i)
fiv)
(v)

B’
Oil seed Production
Meat Production
Leather/Cocoa Products
Egg/Poultry Production

Fruits/Honey Production

H6ULh (A) 20 &Eeuld (B) Guim(h) Clummss1s

A
(@)  Glumsst Uy
(b)  Qleusierflls Lyl &)
(c) Flauli Yyl
(d) Lol L&)

(e) LO(EREF6TT LT

A @)-(0), (b)), (0)-Gii). (@)-(iv). (1)

(i)

(i)
(iv)
(v)

B
eTesoTGlsvoTU 1 619 55185 8561
@eoped 2 PUSS)
Cgmev, CarGam 2 mHUGH
(wiemL mmIb GamidlssT

LimIseT [ GaeiT 2 mugs)

1.0

0.00




(@)-(1), ()i, (©)-(ii), (d)-(iv), (€)}-(v)
A2 (@), (b)), (©)-(1v), (). ©)-(0)
(@), (B)-(ii), (c)-(iv), (d)-(v), (©)-(0)
A3 @-(iv). (b)), (©-(i). (@i, (©)-()
(@)-(iV), (b)-(v), (©)-(ii), (d)-(i), (©)-(1)
A% @) (0)-(iv). (e)-(i), (@), ©)-()
(@)-(v), (B)-(iv), (©)-(ii), (d)-(i), (©)-(1)

Objective Question
128 1128 Which Article mentioned the duties of the Prime Minister ? 1.0 0.00
TR Wevenlifer et FL LU Lifley LgsLo emn&Fifler sLanngsemer GOILLOS ms! ?

AI Article - 70

FL LU fley - 70

A2 Article - 75

Fl LUl fley - 75
j“ Article - 72

FL LU fley - 72
A% Article - 78

FU LU fley - 78
Objective Question

1291129 The beautiful beach which is active in day and night is : 1.0 0.00
@ 6D LISSILD Q& WYL 60T 2_6T6IT |LP&T6E0T HL_M&H6M :

Al Elliot beach




6Tedl WL &L M &6
§A2 Silver beach

Flevall &L M& 6T
53 Marina beach

QlerT &L MH&H6mI.
?A4 Kovalam beach

G&ITEUETLD &L MM

Objective Question
130 130 Choose the symbol of Battery : 1.0 0.00
etTEe08H 60T GMIUTL L& CHITHOSHH&&HLD :

A2 1,
— =

A3 &

: Open
eI

A4




Objective Question
131 (131 Isobilateral leaf present in : o 0.00
QBUSES RBRISMWbHS G606V &ITeor LILI(heuS! :

él Mangifera indica
LDTEHFQUITIT ©)600TLQ &IT
?AZ Oryza sativa
QRENTET FL ML 6UIT
é3 Vigna mungo
G 60TIT (LNMBIGSSIT
é4 Azadirachta indica

S|F MG LIT @)600TLq & T
Objective Question

132 132 Transfer of pollen from the anther of a flower to the stigma of another plant of the same species : 1.0 0.00

e BITeuTs G eor I:DGUD%'U o GTel BT HS SI6T 2CH @SS CEIHS CalQMITH &Teurs S 6
GV (NLG60 U GIFETMENL UG
él Pollination
D&HIHS CoFF&Hns
j”‘ Cross pollination
W6V D& HS CFJE&HNS

A?’ Self pollination

&H60T LO&HTHS CFIHMS
A4 Xeno pollination




CaumILL L I0&JHS CFIHEH
Objective Question

133 1133 Carpels are found in part of the flower. 1.0 0.00
eVIfledT 6T ILEG S uN6v @ 656mev86iT &5 mevorLiLI(H &) 6T 60T 2

fM Anther

IN&JHS 60ILI
52 Ovule

@6V

53 Ovary

GmenL

A4 Antheridium

< BH Fliguiid
Objective Question
134134 The skull includes . 1.0 0.00
LD6OOTEM L 621 19.60 2_6TITLMBIT W 6TeVILDL] & 6T

fM Hyoid bone, auditory ossicles

AWMl eTaldL], QFelld FHRMmaLDL| 6T
{5;2 Cranial bones, facial bones, hyoid bone and auditory ossicles

LDevoTemL 2L () eTEVLDL|&6IT, (NS 6TEVILDL|G6T, QWU TeVDL| LDMMILD QFeN &
FHEMEYILDL] & 6T

A?’ Cranial bones, facial bones




LD60oTem L 6L (h) 6TILDL|&H 6T, (PG 6TEVILDL|SH 6T
54 Only facial bone
(D& TILDL|&HET 0L (hLD
Objective Question

135 1135 After fertilization which part of the flower become seed : 1.0 0.00
&([H6YMIS V&G LN 60T D6Vl 6THS L LGS ellemsWms: 2 (HeUMEGLD ?

él Ovule
@6V

{XQ Integuments
G&IenM

?A‘3 Ovary

&6V60) L
A

4 Seed Coat

eflengwiemnm

Objective Question

136 136 1.0 0.00
Match the cell structure with their functions :

[a) Mitochondria (i} Producers of food
(b) Chloroplast (ii) Seperation of chromosomes
el Cenfricle (iii) Synthesis of protein

(d) Endoplasmic reticulum (iv)  Producers of energy




2 MIVIL|&(ETHLEIT HS6iT Lssofl&emem ClLMmESIS :

(a) snwl GLTEmessTLflum (i) 2 gooTey 2 HugE]

(b) LI & B 5 65671 &0 (ii) &GrmewrGsmbasnsT
Nifl&&l e

(c) Glesm flGwmesy (i) yrs Grysens

(d)  erevorGLmSlemTE suemeuLileiTenTev (iv)  =MMEL 2 HUSS

AL @)-(iv)., (0)-Gi). (060, (@i
(@)-(iV), (B)-(ii), (e)-(1), (d)-(ii)
A2 @), 0)-(i). (V). (-(i)
(@)-(i), (b)-(ii), (c)-(iv), (d)-(ii)
A3 @-(i). (0)-(iv). (0. (d)-()
(@)iii), (0)-(iv), (0)-(i), (d)-()
A% @)-(iv), (0)-(0). (i, (@i
(@-(V), (0)-(0), (©)-(ii), (d)-(ii)

Objective Question

137 1137 Which of the following parts of human brain controls respiration ? 1.0 0.00
(i) Thalamus
(i1) Cerebellum
(iii) Pons
(iv) Medulla oblongata
Choose the correct answer from the options below :

LD6of1 & eLnem6muUlledT LI edTeuhLd LIS MG EH6T 6TLILIG S SaunFsHener &L OQ\LILO SRS ?
(i) S6VITLOGMN




(i) B mieLpemerr
(iii) LImedT6rY
(iv) (PGeTLD
FCLp 2 _aTtemaumMledBiHa Filwmer LHamens CHI6 QFU1s%.
AL ) and (i)

(i) LOMMILD (ii)
A2 (i) and (i)

(i) LDHDILD (iii)
A3 (i and (iv)

(i) LDOMILD (iv)
A% (i) and (iv)

(iii) LDOMMILD (iv)

Objective Question

138 138 Find out the wrong pair : 10 0.00
& 6UMITEOT ) 60)600T6M LI &5600T L1155 :

?M Upper arm - Humerus

GLD6V 60Y8 — UTOLOTEV
?sz Wrist - Phalanges

0600118 &L (B — &LIVITEH&F 6N
?Ad Fore arm - Radius and ulna

(60T 600 — GIIIQUIGN LDMMILD 2 6V60TIT
A4 Palm - Meta carpels




Objective Question
139 139

Objective Question
140 140

Find the reactivity of oxygen with metal in increasing order.

9 GTETHIENS — GIOL_LIT &TFLILI6Y

Au, Ag, K, Mg, Ca, Pt

LI6LBeuml 2 GeVITEH IS EFL 60T 31,8 601eg601160T allemeoTH mem et Fm aliflemaullev &IMeoorss

Au, Ag, K, Mg, Ca, Pt

Al

Au, Pt, Ag, Ca, Mg, K

Au, Pt, Ag, Ca, Mg, K

AZ Pt, Au, Ag, Ca, Mg, K

Pt, Au, Ag, Ca, Mg, K

A3

A

The commission for the purpose of control and supervision of experiments on animals :

eVl G 6T LG M6 CaFMEHemeTenll &L QLB SIS InMHMID CLMHUTTeN6 Q&FUIULD G

Pt, Au, Ca, Ag, K, Mg
Pt, Au, Ca, Ag, K, Mg
4 Pt, Mg, Ag, K, Ca, Au

Pt, Mg, Ag, K, Ca, Au

Al

A

A

Blue cross

L|esls GITmeny
2 CPCSEA

CPCSEA

3 Red data

1.0 0.00

1.0 0.00




Feuli Bre|

A% MoEFCC

MoEFCC

Objective Question

141 1141 In which country having the vision of space Research is, "Harnes space technology for National Development while
pursuing space Science research and Planetary Exploration” ?
"eflevor Qeuerfl oinflaflwich L ITUIFS mHmIb S e sleller eneuld CHRW aIeTIFR&HEMSH
alleoorQauerfl Qa6 I LIGemnS L LIWL6eTLH S SHIG60" 6T6dT LIS 6TH HITL_19.60T 61 6vor Qe 6rf]
QLTTUIESR GBMEHINTSE 2_6TeNSl ?

?M China
Feorm

§A2 America
Q&S

f% India

@bSwm
54 Russia
JeIq I

Objective Question
142 142

1.0

1.0

0.00

0.00




Relate the atmospheric layers with their property :

(a) Troposphere (i) Very rare air

(b) Stratosphere (ii) Burning of meteors
(c) Mesosphere (iii) Weather changes
(d) lonosphere {iv) Low temperature
(e) Exosphere (v) Ozone layer

su6Tfl LDETETL 6V 3(h)& (5,5 (ETHL 60T 245607 LISTITL|&HemeT GlUM(H&HIS |

(a) 219 66Tf] LDETETL6VLD (i) L1 %61 LD (56MMDEUTETT &SMMMmI
(b) =i Esuefl wesTLeuLD (i) elleioT HBMH &6 eTifl H60

(c) @\emLsuerf] LoewTL 6VLD (ii)  eumesflemeu LOMmILIT(H)

(d)  =ywesfl storL6VID (iv)  (@emmbs GleuliLiblensy

(e) Ljmeusifl LoessTLsvLD (V) gpCFmedT LIL6VLD

AL (@)-(ii). (B)-(v).(0)-(). (@) (i) (@)-(v)
(@)(iti), (5)-(iv), (©)-(0), ()-(ii), (€)-(v)

A2 (@), (b)) (A)-().()-iv)
(@), (b)-(v), (€)-(iD), (@)-(D). (©)-(iv)

A3 (@)-(v). (B)-(iv)e)-(i). ()-(0)e)-Gi)
(@)-(v), (b)-(iv), (©)<(i), ()-(0), (e)-(ii)




Objective Question

143

Objective Question

144

143

144

A4 @)-(iv), (0)-(iii),(c)-(v), (d) (),(e)-(i)

(a)-(iv), (b)-(iii), (c)-(v), (d)-(1), (¢)-(ii)

Daily requirements (grams) of carbohydrates amount is

STrCUmemamL CrL 96T Hleora il GHemauuller j6Te (@Urruﬂsu)

fM 40 grams

40 S

AZ 150-200 grams

150-200 S\FITLD

53 70-100 grams

70-100 S FITLD

54 100 grams

100 S\FTLD

Choose the wrong pair.

(a) Oxygen - Combustible gas

(b) Nitrogen - Active easily

(c) Carbon di-oxide - Photosynthesis

(d) Nitrogen - Growing for plant

SHUMITET @) 6n6toTenll CHTHOSH(HHE&HALD :

(a) Q&M K6T — HmeoTmeGeu SLLMMI 6rifluyLd
(b) OBLI6T — eTer1H 6V elemeot L flu]Lb

(c) BTILTENL 560 F (b — 6fldF CFi&Hemas
(d) eMIBLJR6T — HTEUT GUETIE R

ORE)

1.0

1.0

0.00

0.00




Objective Question
145 145

Objective Question
146 ||146

(a). (d)
A% (). )
(a). (b)
A 0. )
(©). (b)
M o). @
(b). (@)

Which of the following is the natural adulterant or adulterants ?
LN 63T 61 (IH 61 60T6U D MIGIT 6T @) UIMEM & ULMTET S56VLILIL LT QLITHET () QUITIHETEH6IT ?

fM Chemical residues of Pesticide

LFF S50 8 M6L60 LnIHH S8 6rfl60T 6TEh & U GauSH LI LITIH6T
?sz Calcium carbide to ripen bananas and mangoes

QUMTELPLILILPLD, IOTIDLILPMHIGHEMET LIS S 6M6USH @G0 STeVF WD STrenL ()
{%3 Prussic acid in seeds of apples

L6 eflem s sHerflev ssmevorLiLIBID Ljem&F & Ldleuld
:A4 Carnauba wax coated on fruits for shining appearance

Lipmigerfler Wg LemliUerltmesns GFF&H&LILGID &MTFCTTUT QIO GS.

Which one of the following is the application of concave mirrors ?

LYl eTe (HeveoTauMMIET 615 & LOIUImIquil6dT LILI6oTT@LD ?

Al They are used on roads where there are sharp curves and turns.

1.0

1.0

0.00

0.00




Fmen e erler L& 6|lD GmIS W LnMMID HIL LILDITEOT 616066 856116V LILLI6oTLI(H G 60T M 6oT.

A2 . . : .
7 They are used in vehicle as rear view mirrors.

aUME 6ot IS 6160 L6 M &TLG 9419 S6Tmas L LW 6oTLI(H §) 60T M 60T

53 They are usually mounted on a wall or ceiling where hall ways make sharp turns.

GOIF U 6UEDETES6T QGTEoOTL. &L 19 L &FH) 60T SreUJE6T 606V Faem I8 6rflev
QUMTBHSSLILIL 19 (HEGSLD.

54 They are used in reflecting telescope.

THQTmefl& G QS Tet6VBHITE G 861160 LiILLI6oTLI(H G 60TM6oT.

Objective Question

1471147 Which one is the example of oxidising agent ? 1.0 0.00

2660RCarTHMI&HE RF TOhISHSHHETLH :

fM Palladium

LI6LGeuIg WILD
;AZ Platinum

LermL1q.60TLD
?A3 Lithium aluminium hydride

N SH WD SauLdleolwibd emamLlenr(®
é4 Hydrogen peroxide

AL 60T GLITT&Hem6en(h

Objective Question

148 1148 The average internal temperature of the human body is : 1.0 0.00




neoflg 2 LedleT Frmeifl QeullL Blemev :

Al
: 986°F

986°F
62 9.86°F
9.86°F
é3 98.6°F

98.6°F
A

4
96.8°F

96.8°F

Objective Question

149 1149 Which one of the following is suitable for compressed air in tyres ? 1.0 0.00
LD 55 600T UM MIGT 6T&I LUWITEH 66T (WSS L STMHMIGHEG LDMMMTS 2_6Temgl ?
:Al Helium
anjedlLLILD
{X2 Oxygen
3,8 6en0leg601
?A3 Argon
2785 T60T
é4 Nitrogen

60 B L_ [T 82607




Objective Question
150 150

Which one of the following method is used for separation of Methanol and Ethanol mixture ? 1.0

QDG S ETITEL LDMHMILD 6T 55 60TITEV G605 86V6M6U60 LI G LN 8600T L 62(H (LM MUSI6IT eLp6uLd
N iflésseumid :
! Solvent Extraction
SO TLILITET FTMI @M&H 86V (LN6DM
§A2 Chromatography
auevoreoor LILNflemas (wemm
A Distillation
eTeflW STUIFF 6l 5560
é4 Fractional distillation

LY 606018 SMULEFF 6119886V

0.00




